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< ot > 15,000 15,000 0
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216-06 J1EFOI Xt ==& 30,000 30,000 0
< Hots=Z 0t > 30,000 30,000 0
O Zded Ol X == 30,000,000& 30,000
220 SAIHAN2 == 576,000 500,000 76,000
222 RY= 500,000 500,000 0
222-02 LRSS 500,000 500,000 0
< Yot > 500,000 500,000 0
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510 = 0E2X=S 10,329,020 12,700,847 N2,371,827
511 =08 x38 10,329,020 12,700,847 N2,371,827
511-01 212X =3 9,811,000 12,043,073 N2,232,073
< ot > 9,811,000 12,043,073 N2,232,073
©O06BTL AIE2THZ 1,915,000, 000& 1,915,000
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OO0BTL AIEZ U= 3,955,000,000& 3,955,000
OHE2XN+ sHE OtSot=5 FHIAEY 340,000,000& 340,000
OSX&X - sOHE OtSot=% ALY 568,000, 000& 568,000
O353H Ncl sOE OtSol=% dBIAIE  2,698,000,000& 2,698,000
OSX HEXF OtSot=E HUIAY 300,000,000& 300,000
O ES0IEANE EXNAY 35,000,000 35,000
511-03 JI= 518,020 657,774 A139,754
aot=S 0t > 518,020 657,774 A 139,754
OZSEH 220 GE =2 B A 10,200, 000& 10,200
©O06BTL AIE2THZ 90,000,000 90,000
©O0BTL AIE2UHZ 186,000,000& 186,000
ORI 7 0tSct=% FHIAY 21,831,000& 21,831
OSX AKX 7 OtSot=% EHIALS 36,540,000& 36,540
OANelXI7 0tSot=% EHIAY 173,449,000& 173,449
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521 Al - EHIEXS S 682,111 1,198,000 515,889
521-01 Al - SHIEEXZ2 S 682,111 1,198,000 A515,889
Aot=Z 0 > 682,111 1,198,000 A 515,889
O06BTL AlE U= 82,000,000 82,000
O09BTL AlIEZU = 194,611,000& 194,611
OLEYE0E EXNAEY 2,500,000 2,500
OZ3ot=HelAE A2 403,000,000 403,000
=UASHUHENH 17,252,079 20,361,779 23,109,700
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&= 17,252,079 20,361,779 A3,109,700
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Aot 0t > 17,252,079 20,361,779 A3,109,700
OLESH HUS 9,810,490,000& 9,810,490
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7,441,589,000& 7,441,589




